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ROUND1-G1
NIEAE 4 Wi i A2 Total
1 |=F & TR Nyt A 25. 30
2 | AT IR = 24. 30
3 |IRE T HORCER A 24. 20
4 hEy BET fi] L1 S Ny A ZA 23.10
5 |HEH EAK i i) Fr b 22.10
6 |ZEE AN e R T—r3g 22. 00
T |EE R L DA 20. 50
8 |tH JRHE R Frry 20. 40
9 |HE Al PRI B Nyt 2A 20. 30
10 AL A ED AR IR A 19. 70
1 |iEf H5r A= 3 19. 20
12 |PIHE BRAC RN Ny A2 A 19. 10
ROUND1-G2

(A i Hi & I Total
1 (A e NS AT 23. 20
2 | = JeitmE T 23. 20
3 |HEH BT T L Tty 23.10
4 (BAR  TH+ B R Ny YA 2A 22. 80
5 |EE HAT N = 22. 80
6 |FElE NES IR ey U AT 22. 50
T |HE BT BESS IR Nyt 2A 22.10
8 [Hf HAET TN A 22. 00
9 |Mn B s Ny A ZA 21. 20
10 [Ahk E£F TR I Nyt A 2 A 21.10
11 |& NZTS Nyt A A 20. 30
12 i #E3E T I A 19. 40
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ROUND1-G3
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IR B S N S i i) e = 24. 90
2 |HE ET KERIF Ny YA 2A 24. 40
3 |1AE A Lefd I N AE 23. 60
VI VIS JE I Ik A 22.70
5 |fEn ET PRI I A 22. 60
6 |gnAk EHA BT A 22. 50
TR B fi] L1 S A 22. 30
8 |HWF BT I L R v 21. 70
9 [{THEHE BT HUHR IS = 20. 60
10 |[HAr FpHi PN A 20. 10
1 |#EI &7 T I Ny A ZA 19. 90
12 |% F EET RN AT 18. 80
ROUND1-G4

(A i Hi & I Total
LB A JeitgE AV 24. 80
2 [HEE W& L R R g 23. 60
3 BT TR Nyt HxA 23.10
4 Pl 9z TN Ny YA 2A 23.10
5 PIRR & By F I Ny A ZA 22. 50
5 (M &+ NI Nyt A L2A 22. 50
7T |k BRI —HER Fr Y 21. 80
8 KW HEF] e ey I AT 21. 50
9 |HH TR 5 B2 I = 21. 10
10 [fhE ek A=l A 20. 90
11 |Ak Fadkr e =3 20. 10




